where applicable:

i i ks
jate articles t0 fill in the planks, : ol
-y efficient organization-

he most approp’! : :
leasure tO do business with such __——
P (B) @ the, a

(D) XX an

1 Choose
IGis .
(A) X the,an

) a X, an
n not attempted

(E) Questio
2 Choose the most appropriate option to fill in the blank: ‘ .
student in the class passed the examination conducted in the month of April.
(A) Al (B) Every
(D) None

(C) Very
(E) Question not attempted
3 Which o in writing @ Notice? Choose the correct option.
(A) Signature B) Time, date and place
(C) Minutes of the meeting (D) Agenda of the meeting

(E) Question not attempted

f the following does not feature

s will come in place of 7 in the given series?

4 What number from the following option
@ Mﬁﬁﬂ%’@ﬂﬁﬁﬁﬁﬂaﬁﬂrﬁﬁ@r? 3 T O STTH?
3, 15, 35, 63, 7,143

(A) 125

© 75
(E) Question not attempted / 3133’?!13(3 e

®) 81
D) 99

5 After interchanging +and —; 8 and 7, which one of the followi i
: x ing equation becomes correct?
+ T AT 8 aﬂwﬂmaaaﬁﬁwﬁﬁmﬁﬁmﬁﬁaﬁqmwwaﬁw
(B) 7x8+6-9=25

(A) 8-7+3x5=35
g§x2+7-6=9

() 6+8x2-7=0 (D)
(E) Question not attempted / :ﬂjﬂﬂﬂ g4q
6 A certain sum of mone
y amounts to ¥ 7,464 after 4 years and I
The value of sum is: i s e IR

v fafera aafan aaﬁ%mqua—nﬁa;m
) 7,464 3T
(A) %3,732 ®) sti;:mng’sﬁﬁwﬁﬁmwma
(C) %9 ’
33 (D) ¥37,320

(E)  Question not attempted / FITART ¥4

7 A bag contains coi ;
ins : "
A (;:t::issaof‘ 50 paisa, 25 paisa and 10 paisa only. The ratio of numb
25 b i B o e is 5:8:3. If all the coins in the bag amounts to ¥ 144 the ‘:; of coins of 50 paisa,
s B hear : n the number of coins of
A4 50 49, 2
bk b il 10 8% ¥ foras 1 50 2, 25 & ST 10 ¥ 35 ferrrt o
(A) 150 144 %, Y 1 i 25 e} % feraent AT e g HEAT T T 5:8:3
(C) 260 (B) 240
(E) Question not attempted / 37afea wey (D) 280
R15] 38 )
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uman insulin.
a. Human insulin is made up of two short Polypeptide chains
b. Two chains are A and B chains,
c. Two chains are Q. and Y chains,
d. Pro—honnohgcontains extra stretch of C-peptide, t?)
e C-peptide 1§Ppresent between two chains in mature form of human insulingy
Choose the most appropriate answer from the options given below &)
0
(A) a,cande only (B) a,bande only e’
(©) a,bandd only iy (D) a,b,dande only L
(E)  Question not attempted i
m@q%mﬁmmmwmﬁﬁm-
& A I ) 9 Greiiverse AT T 51 Brerr B) Ty
b. A siwet AGH B s Y g
c.  Arsimant Gohir v HEend § o
d. wm(%ﬁmﬁc-mmmﬁﬁmm@aﬁm% W0
. m-mﬁﬁwﬁ%mmmﬁmﬁ%wﬁmﬁm%l er:){
e e T Ryt 3 & wﬁfs}sn IUG I ; o4
(A) aﬁﬂ‘a,caﬁTe (B) %ﬁa,bﬁl’e
(C) ¥awa, baikd ” (D) Fada,b,dsive -
(E) smi@awa 4 0
9 o
3 Select the bacterial speq%; useful as single cell protein (SCP). Vo)
(A) Spirulina i (B)  Methylophilus methylotropf&'!)is
(C) Trichoderma poigg};or‘um (D) Monascus purpureus i
: d
(E)  Question not attempte
I ST SSTTfer AT < T S Tehe T S (SCP) 3 for st 2 i
= by (B) Aareeiiwrser Mramseizivgs
(A) Tegefer e WO
Gt (D) TR T o)
(© ;’73’#31# o A
(E) rafayd ¥e) o
v Ty
1 i is tagged using golden yellow coloyr-
that are.100% pure and their bag is tagg
10 Select the seeds ) &1 (B) Certified seeds
eds
(n) Nueleousze (D) Breeder seeds L0
(C) Foundation seedsif’} Ve)

{
(E) Question not at[e(lﬁled

e
ﬁmwﬁﬁqsﬁmu%ﬂaﬁﬁ%aﬁrmmﬂmmﬁmw%ﬂmmﬁ:_
Eo)

\\e)
FH (B)  wwifore sfisr
e qﬁm@?m N (D) W (3l sfiy S
© 0
o . 3 [P.T.O.
R15] 98

Seanned with CamScanner



Read the passage carefully and answer the questions that follow:- (Q. 11 to 15)

Asthma is a respiratory disorder that we have known about for hundreds of years. However, there is
still no cure although drugs, such as steroids, and inhalers can alleviate the symptoms of an asthmatic attack,
and there is still no known cause. Worryingly, the number of people who suffer from asthma is increasing
rapidly. In some countries in the world the disease is becoming more like an epidemic.

Because of the huge increase in the number of cases in the last 30 years, there is a widespread feeling
that some kind of lifestyle change is to blame. Since asthma is a disease which impairs breathing, many
researchers have thought that a reduction in air quality might have caused the increase in it. However, it is
now thought that although the pollution in the atmosphere might exacerbate the condition, it is unlikely to be
the cause of it.

For a considerable time, household dust mites were thought to be a possible cause of the condition, but
attempts to keep these to a minimum have not reduced the numbers of asthmatic sufferers. Far from it.

Now researchers are looking at diet to find the culprit. The period over which asthma has increased
dramatically in some countries coincides with a period when there have been major changes in diet in
countries which have seen the highest rates of increase. It was first thought that some kind of dietary allergy
might be a major factor.

At the moment, researchers looking for a dietary trigger for asthma are considering whether a lack of
antioxidants could be responsible. Their possible protective powers have been much discussed in connection
with other diseases. Now, doctors are wondering if a diet rich in things known to contain high levels of

antioxidants, such as fruit and vegetables, would prevent asthma, especially if such a diet was followed by
pregnant women.

Meanwhile, the schoolbags of more and more children contain an inhaler as well as books and
notebooks. Something at school could trigger an attack and they must be prepared.

11 The use of steroids and inhalers for asthma is to:
(A)  healit (B) relieve it
(C) cureit (D) intensify it
(E) Question not attempted

12 For a long time it was believed that although one of the following might exacerbate the condition (asthma),
it is unlikely to be the cause of it:
(A) an unhealthy lifestyle (B)  the poor air quality
(C) insufficient exercise (D)  wrong dietary habits
(E) Question not attempted

13 Identify the statement which focuses on the newest possible cause of asthmatic attack:
(A)  The pollution in the atmosphere probably exacerbates the condition.
(B) Household dust mites were thought to trigger the attack,
(C) Adiet deficient in antioxidants may be responsible for the condition.
(D) Dietary allergies might be a major factor.
(E) Question not attempted

4 Which of the following is not likely to trigger an asthmatic attack?

1 (A) Cigarette smoke (B) Dust mites

Fruits and vegetables (D)  Air pollution
©) . op not attempted
(E) QueSllo 4
[ P.T.O.
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15

16

17

18

19

=
—-
wth

Match List-1 with List-I1

(E)  Question not attempted / I 99
|

List-11 (Antonyms)
L assuage

List-1 (Words)

a. alleviate
b. impairs II.  aggravate
c. exacerbate II.  leisurely
d.  rapidly IV. repairs
Choose the most appropriate answer from the options given below:
(A) a-Lb-Ic-1II,d-1IV (B) a-ILb-1V,c-1,d-III
©) a-M,b-IV,c-L,d-10 (D) a-IV,b-Lec-II,d-1III

(E)  Question not attempted

The concept of ‘Directive Principles of State Policy’ in Indian Constitution was borrowed from
(A)  German Constitution (B) Irish Constitution

(C) Japanese Constitution (D)  American Constitution

(E)  Question not attempted

st sl # e % Hifer e frgiah € sramon iy

(A) S Hfem (B) R wiaE
(C) A & dfaum (D)  3mafier & wiam
(E) ruiawy

The Rising Rajasthan Global Investment Summit 2024 is being organised in
(A)  Jodhpur (B) Ajmer

(C) Bikaner (D) Jaipur

(E)  Question not attempted

mﬁnnww@aasﬁwﬁzqﬁzzommmm AT srwr e

(A) U (B) 3R
(C) dimrT (D)
(E) Agafeawy .

The diameter of a garden roller is 2.8m and its length is 4m. If it takes 5 revolutions in 30 seconds, then how
much area will it cover in 5 minutes?

(A) 1760 m? (B) 1440 m?

(C) 1860 m? (D) 1540 m?

(E)  Question not attempted

gaamé:frqwrarm.s Tﬂaaﬁt?iﬂlﬁciIﬁ?(%luﬁﬂﬁmmﬁsmlﬁm%_a}sﬁqzﬁagm
AR 99 Hm?

(A) 1760 Hiz2 (B) 1440wz

fg)) ;zzoﬁj?; (D) 1540 ¥z 2%

2 .4 6 ; 2 x| S L

37+ 5T+ 57 +ennn i equal to - —0 3 :!____ T ";"ng*qxr_};
R T axz  S¥Wx3rZ

(A) e _(B) 2 il

© % (D) 2

3

[ P.T.O.
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20

21

22

23

25

. = . §_ .
The perimeter of an isosceles trianglc:. is 322c:m and Icpgth O,t; each of the equal sides is 3 times of the length
of base. What is the half of the arca (in cm ) of the triangle?

wqq@m@ﬁgaﬁqﬁmnﬁﬁr%aﬁtmmgmaﬁﬁaﬁﬁwaﬁraﬁmr
et ohT 3Te (S ) T &7 0
A) 38 o (B) 42 0
(C) 48 O (D) 24 (Vo)
(E) Questign,not attempted / TR ¥4 o))

& T By

A0
If 12 boys or }Qgirls can do a certain work in 14 days, then in how many d‘g}is will 8 boys and 16 girls do the

same work? ¥

e 12 g% o

ot 4 ity

(A) 7 (B)
© 1 (D)

(E) Questi{:ugnot attempted / JITAIG T4

Which two sigfis should be interchanged in the following equation to makéit correct?

20+5+20x8-20538

(A) +and 0

(C) +and ¥~

(E)  Questibfilnot attempted

(B)
D)

9
13
g}
O
h
—and + &
—and +

Ty
e w5 a3 R et i & & feat s i ser AR

20+5+20x8-20=38

A) + 3T x ___(B)
5 s
‘TR Al fawe o
(A) e+ 3dle (B)
(C) &M+ (D)
() et
Digilocker is a flagship initiative of which Ministry?
(A) Ministry of Education (B)
(C) Ministfy of Electronics and IT (D)
(E)  Questjgn not attempted
fefireira forg fATer 41 Tq@ T6< &7
(A)  farer gy (B)
(C) T T 31TE & HAe (D)

Where is Rajasthan Atomic Power Station located?
Choose the most appropriate option from below:

(A) Sura (B)
(C) Jodnp (D)
(E)  QUESUeR not attempted
il i T2gr el %i-‘?{aﬂ%‘l
fa= g fare
© sﬁqg(l'"g (D)
® T "

. n
V&)
0O
(W)
FET+ e :‘?‘
I+ 0
i
Ministry of Firhar'lw
Ministry of C(\lEncrce and Industry
Ve
(@)
e W
I & ST
1y
i
Baran tg
Rawatbhata ()
(&)}
Lo
n
s
AT v

15 rsforat Pl e o 14 e B g a8, ) 8 T 16 rgfo e ) Py

[P.T.O.
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n

]

9

R‘SI(E;g STgafa v 7 [ P.T.O.

which is not the key vision area of Digita] 1nia Programme?
Choose the most appropriate option, f, rom below:

(A) Digital infrastructure as a core utility to every citizen
(B) Governance and service op demand

(C) Digital empowerment of citizens

(D) Promotion of behavioural changes of citizens

(E) Question not attempted
aaqm"%f%iaaﬁ%maﬁﬁm“wmgf& & T 27

et o & e S e g o

B) T G R i R (i v e ok gy
() ARt 1 fefirect wreriemo

(D) TR % STER IREdT i @@ 3

() TTARa A

Which of the following statement is not correct about alluvial soil in Rajasthan?
(A) This soil is found in northern and eastern districts of Rajasthan.
(B) Itis light brown red in colour and has a sandy and loamy texture.
(C) Itis a fertile soil.

(D) This soil contains enough quantity of nitrogen.

(E)  Question not attempted

TSTEAT ¥ STl HaT o 9 7 frefefiaa § & a7 wom ad 72 22

(A) I &I USTESTH o It U Qe et & uig St 2l

(B) 36T U EehT T STeT & S F0HT T s 37 2

(C) 9 Ueh 3T HaT &l

(D) 5@ & ATSgIer At I AT Bl 21

(E) Srafa gy
Tropical thorny forest is found in which of the following regions of Rajasthan?
Choose the most appropriate option from below:

(A)  Udaipur (B) Jaisalmer

(C) Baran S

1 d : :
(E) Question not ;:t_[tempte 3 Freferfiaa & o & 3 g SIGES,
frer T I
” T d gaa Fug fashed T (B) et
e (D) @RI
(E)  srgafea ag
. . : ing place of Rajasthan?
Kolaya.t lake” is situated in which of the following FB) Udaipur
Eg; Bikaner (D) Churu

Ajmer

&)  Question not attempted : W fea @7
‘ Errferfiaa i @ T #rT
:'ﬁma e TseaE & (B) @AY
(C; EiEacry (D) T*
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30  Pointing towards a girl in the picture, Sunita said, “She is the mother of Neelam and Neelam’s father it
¥

31

32

33

34

35

R15] 3 8

3 Y
o

son”. How is Sunita related to the girl in the picture?

I B) Niece
= D'aug - 1 (D) Mother - in - Lawln
(C) Sister O (D) W0
(E)  Question ngtattempted

o
T, 3 e g ERY ST ST S g et 3 e, ‘agmaﬁmmsﬁ%aﬂcgaw%ﬁmagﬁ,,m

for maﬁtﬂ*ﬁ”sﬁﬁ aiftrd 87 -
(C) =& il (D) ™ i
(B) rgafed wx
If ‘PARK” is coded as *5394’, ‘SHIRT’ is coded as ‘17698’ and ‘PANDI'I,‘_’{-js coded ‘532068’ then hoy
would “NISHARRbe coded in that code language? (e
af ‘PARK’ 1 *5304°, ‘SHIRT® 1 *17698" 37 ‘PANDIT" 1 *532068° FIFeE T AT £ 71 ‘NISHAR' 3
It Fr i foram st v S
) 261739 P ARG S wIRT PAVOIT
JA) 261739 B) 261789 T4 1q&9a SI200F
© BIos4 g (@) 266734 =" -
(E)  Question notiattempted / STl wer Lo
Find the missing number (?) in the Table:
ot 3 oW wE (@) I -
Ty
211 69 (e
4 | 7| 2™ w0
815 | 107 (5)!
30 | 34 | 2 \O
(A) 15 L) ®) 16 2
© 17 i (D) 20 ﬂ
(E)  Question not attempted / JITafa W
Choose the mosggppropriate English word for the g
given word:
gfderaT ¥e g
Eg) transgress& (B) transcription  \D
) transc-ont%ntal (D) transfigure =X
(E)  Question pof attempted LY
i
Choose the mas@:imble word to complete the sentence given: 10
A person who settles disputes/disagreements is known as an i
(A)  Altruist (B)  Arbi
rbitrator
(C)  Anarchiglf) (D)  Asceti
5 g scetic un
uestion ppy attempted \0
Choose th &
oose the mm@pmpﬂum word opposite in meaning to: o
CHIVALROUSH 0
(A) Gallant g (B) Discourteous |‘.-r-|'j
() Defiant (D) Brave i

(E) Question notattempeq
[ P.T.O.
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g The Supreme Court has ord : _ .
. periphery of the critié@tig'ar;ftcalit:::,? ajla.st:a-n Government to shut 68 mines operating within 2 1 km
: which tiger reserve? Tg)
(A) Dholpur-Karaﬁ Ti
(C) Sariska Tiger Ser%‘:’ Reserve (B)  Ranthambore Tiger ReSérve
(E) Question not ) - (D)  Ramgarh Vishdhari T"é%r Reserve
aaﬁﬁrammﬁua@q _
e Y T T H aﬂgﬁﬁms W'T%{ﬁﬁmm SRS 35 Tt a1 s 3 1 Fejrite: 3 i e o 68
A) R AR R frord L0
Ec; W1 2R o (B) TrwiReEmied
(E) ¥Jaia us (D) TG fawyrd e ford
By which . Ts)
¥ In);ﬁ“;u;(.:o:?onStlmtmﬂgamendment, the Urban Local Self Government was given thgstatus of a Constitutional
ion?
O
th e as
0 4411:[ ConStl.mtl.g&ﬂ Amendment (B) 74" Constitutional Afiendment
© B C-Onstltut; fl Amendment (D) 42" Constitutional Afféndment
(E) Question not pted ol
ﬁﬁaﬁuﬁmm e T T g3 deem et g mEn ‘_UJ
o el Sl (B) 74ai Gawurfies G
(E) IEaiaws |~ "
38 Panchayati Raj is a sy§tem of: . 8
Choose the most apmpriate option from below: s
(A) Local Governgpgnt (B) Local Administrationy ¢y
(C) Local Self Gavgrnment (D) Rural Local Self Govgmment
(E) Question not hffempted Te)
YTt TS U i freEen i
ffoftaa & & gad Jugw fawed 1 ;
(A) T EEHR (B) AT wwIEA
(©) wmqmmtg (D) mnﬁurw:ﬁzrmmg
(E) 3gaid ¥4 i >
39  Choose the word mo§B¥imilar in meaning to the underlined word in the sentencely
The acerbic remarks 3fThe boss were unwarranted as she had ;_»ut ina lot of effort id Pteparing the presentation.
(A) whimsical T (B) bitter S
(C) appreciative (D) childish -
(E) Question not aft?.tnptcd
40 Choose the word most similar in meaning to SPURIOUS from the options given:
(A) soiled Te) (B) incessant T3
(C) unauthentic (O (D) considerate WO
(E) Question not agjgmpted 0
i i icroprocessor ‘VLSI” chip (32bit) is used? (o))
p: li;Vth:}rE: nerion Eﬂ"’ ’ (B) Second O
i
EC) Third :‘-'-) (D) Fourth E;
E uestion not att pted '
E) &1 forr i # it et w@ a1’ o (32 fore) =6 3w for a9 '
(A) wuH (B) fidfim
© T ©)
(E) i s
9
R15] 38
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* Excel (D) s
(A) Ex
(€) MSword ttempted
, stion not atle 4 "
(E) Qucﬁﬁaﬂﬁmmm%? (B) U U
(A) e (Excel) (D) fera
(€) LSS
: 2l .
W S il in the middle of the teeth by a woman is calleg:.
43 InRajasthan, inserting a gold nail in th (B) Borla
(A) Damna D) Baari
(C) Choonp ®
(E)  Question not attempted
T H, foreft wfee gre it 3 sfrer ay o e e E'SBWE”E”%'
(A) T )
© (D) @it
(E) 3rgaftawy
44 On which date second stage Rajasthan Union (Present Rajasthan) was formed?
Choose the most appropriate option from below:
(A) 17" March 1948 (B) 25" March 1948
(C) 18" April 1948 (D) 30" March 1949
(E)  Question not attempted
TSI 6 (g
iy “W):rsﬁtrw%aﬁﬁmﬁw%agm
(A) 17971 1948 o
(©) 18310 1943 ®) - 257 1948
O i D) 309rf 1949
- According 1o 29; | census, wh; g
» Which of T ion dess?
(A)  Bikanes Ot the followipg districts of Rajasthan has the lowest population &
(€) Ba.rmer (B) Jﬂisalmer
(213)“ Erl(:,)Im:slion N0t attempteg D)  paj;
B drpy %ﬁ@f%%ﬁw
© g (ﬁ) ﬁ’lﬁﬁmanmam?ﬂ%”
(E) .
T"'—ﬂﬂ
46 which ofy, 1 (D) et
(A) Mo _”0110 ingisanou
©) Spoy. Pl devieep
“dkep
(E)  Quey, B)  ge
b
> @“‘(iqn ;;;t allcmptcd (D) JOy);t'otrd
(A) 3w ‘“‘*Rzngf@m{ ¢
&
(C) wfia
(E)  srafta uy B) e
R15] g : 5
®) Stafigs

¥

Seanned with CamScanner



19)
47 1 PB (Petabyte) is equal foi- W
(A) 1024 TB (Terabyte), (B) 1024 Bytes O
(©) 1024 MB (Megabyte) (D) 1024 GB (Gigabyte) %
(E)  Question not atterhpted e
1 ot (Feramse) s R, 1O
(A) 1024 . sft (ﬁ'{mggtﬂ (B) 1024 =5d i
(€) 1024 TRt (FmrarTge) (D) 1024 S &ft (fianse)
(B) Agaiauy
: Ty ) :
48  Which of the followinganyspreadsheet is a method of arranging the data in ascending'd® descending order?
(A) Filter W (B) Sorting O
(€©) Auto Sum O (D) Logical operator g
(E) Question not atte%'ﬂ'rl ted 5
ﬁm%%aﬁﬁﬁqmtﬁgﬁzﬁmaﬁ AR A mﬁmﬁmﬁuﬁaﬁﬁ?ﬁr@ﬁ*ﬁ%l
(a) foex i ®) i 4
(€) rEn (D) iifreret A
(E) Agui@wH
49  When the primary tribut%”ges of a river flow parallel to each other and secondary tribuL?u;._ries join them at right
angles, the pattern is known as : O
(A) Trellis o (B) Centripetal =)
(C) Radial & (D) Dendritic E';
(E) Question not attef;h'"I ed o)
EERiGEC R IRIEED sTfea, ek e 35 TR el 21 S feer werer A e 1 e
B, 11 39 ufced i Her ST &:-
(A) SITelgAr (B) i
© Ty (D) FEERE Ty
®) sgeRasE O -
50  Which one of the following water bodies separates the Andaman Islands from the Nfedbar Islands?
(A) Gulf of Mannar ‘& (B) 5°Channel 2
(C) 10° Channel (D) Arabian sea e
(E) Question not attem ted _
frefafiaa § @ HH-a1 S | FTEHM €19 g I (R Ei9 /8 & 3T T 87
(A) FETCH TR (B) 5° =
(©) 10°=d e (D) EHER Ty
(B) FERA@TH 1O 0
W0 0
51 Post- Independence of @Qia how many states of Rajputana (Present Rajasthan) wetelelevated towards the
Indian Union? w
T 1 ET o AT @ﬁqﬁmﬁﬁﬁmmﬁm&ﬁqwﬁﬂﬁagﬁ@
Choose the most apprgjgge option from below - T
firer # 4 HEH I9THE
A 17 (B) 18
©) 19 (D) 20
(E) Question not attempted / FTaRE 94 >
RI5] 38 11

[ P.T.O.
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oduct stands for

: s Pr e
5 ‘PPPin terms.of ift:er il (B) Public Private Pamlership
(A) DPurchasing FOWEE=E (D) Public Partner Price
©) purchasing Power Price
: ttempted
(E) Question not.ﬂ
et e et & ft i o1 2:-
(A) s wifte wT(Purchasing Power Parity) _
(B) ardafi fasft @t wmiieri(Public Private Partnership)
(C)  fth qed(Purchasing Power Price) -
(D) W WAfER e(Public Partner Price)
(E) 3aia ¥
53 Which of the following is not an exothermic reaction?
(A) Formation of slaked lime on addition of water to lime
(B)  Burning of natural gas
(C) Respiration
(D)  Decomposition of calcium carbonate to calcium oxide and carbon dioxide
(E)  Question not attempted
7 5 2 2 o v e AR (exothermic reaction) &T 87
(A) ﬂjﬁﬁﬁmwgﬁ@mﬁﬁq
(B) Wi e wragy
(© =E7
(D)  Hfewram wraitie @ ey i
SIS 3 e 27d afiare  syqee
(E) sraftd wyr L J
54 Which of the following ;
815 not an a]lotr,
(A) Diamond ope of carbon?
(C)  Fullerene (B) Hydrocarbon
t(‘z; ﬁggj*"“;;“emmed ©) Graphite
T 1 0 1qvey
() ¥ () et 2
© gty B)  wrg
() sryafer gu D) ez
55 Oilsop treat
ment with h}’dfﬂgen i
(A)  Addii " inthe presenc i
(©) D;sil;m o ofnickel catalyst form fots, This is an exampleol—"
a : -
® Qucsﬁzement reaction (B) Substitution reaction
. e zﬁn not attempte (D) Oxidation reaction
(A) m;;ﬁ’dﬁﬁ,aamw%mw ﬁﬁf"‘g
© MW'"W R E T S
B e B) sty srfifirar
R15 " ®) St st !
I 3 Ifi‘
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g Pt o s e w2
a.  THHQ
b. 3T
c. i
d. Tl
e. TS
frr R e et # & waifaes sugw swgia:
(A) Fada,b3HRc (B) @Fdacia,c3iNe
(C) Faab,d3Re (D) Fab, c3Md
(E) diaus
57 frafafes @ ge fafad o e-
(A) A F EHT UG & (B) e ¥ T 8w 2l
(C) T 3T ) (D) T He g=tan &l
(E) raia W
58 o fvmT TETE W wE o @-
(A) T T T (B) T TSHT
(C) W& A= (D) AT FEAT
(B) Sgarasd
59  Which Indian player won Bronze medal in the R2 Women’s 10m Air Rifle SH1 event at the Paralympics,
2024.
(A) Mona Agarwal (B) AvniLekhara
(C) Bhagyashree Jadhav (D) Deepthi Jeevanji
(E) Question not attempted
Fafifier, 2024 3 R2 feET 10 X TR Tgwer SH1 wqut 3 form wmeefer et 3 i vaes Sfiar 2
(A) HHET AT (B) @y
(C) vt s (D) @ sfast
(E) qi@w
60 ‘VAIBHAV’ Fellowship Programme is implemented by which Department of Government of India?
(A) Department of Science & Technology (B) Department of Social Justice
(C) Department of Economic Affairs (D) Department of Revenue.

(E) Question not attempted

Qv Wﬂﬁmmm%mﬁwﬂmmﬁaﬁmm

(A) s o sirenfiht ferm (B) rTiSTeh =y fepmr
(C) e wrat 1 famT (D) e famT
(E) H#Iaia 94

61  Babool, Khair and Khejri species of trees are found in which of the following forest lands?
Choose the most appropriate option from below:

(A) Montane forest (B)  Tropical Thorny forest
(C) Tropical Evergreen forest (D) Littoral and Swamp forest
(E) Quesuon not attempted
e, Gt 3R et et o g Frefcfa 3 & f o & i s #
fer i A wad awa?ﬁﬁm?w g;?’t
(A) e (B) IR R
(C) IwrHfeadId BIEER I (D) W T TerEsh o
(E) rgaiad

R15] 38 13

[ P.T.O.

Seanned with CamScanner

12



19 iy
. 5
; ich of the following
a@orcsts called ‘Sholas’ are found in which o 8 state o
62  The temper:

fIndjgy
(B) Rajasthan (8 ))
(A)  Punjabzy (D) TamilNady ‘o
(C) Odishd© E}i
i { ted X
< 9“%“%“,,"(“ PG S “
R : (B) TS
il (D) g
C) s Ty)
(
®)  srgaiifa \0
0 . k..
, ; iate about the Himala al’Rivers)
63 Which of théTollowing statement is most appropriate a Ozn L y e
(A)  Nature'of flow is seasonal and dependent on monso : vl
(B) Catchmﬁnt area is very large, Tg
(C)  Their pldce of origin is plateau, =
(D)  They flow through the fixed course with well-adjusted valleys,
(E) " Question not attempted
W?ﬁﬁ&aﬁﬁﬁ%ﬁgﬁﬂaﬁmﬁrwmm% Q
(A) mﬁwﬁrﬁm%eﬂtm@aﬁmﬁﬁmm O
B) SRS ey o)
© TS emEry W
©) 3 %m&aw%ﬁ%mgﬁfmwfﬁmél =
(E)  rmiysy e
64 Which of the following view shows margins and the rulers? )
(A) ReViﬁ@ (B)  Page Setup g
(©) Page Iiﬂ'out (D)  Norma] View W0
(E) Questign not attempted &
AW W@QWWW(Mm ) Tatar 29 \O
@) ®) e gy
65 Wi h : ; i
uw 1;;:—? ;ng . roa]:a::;%l%ys L o checking Stammar and spe|jin in M.S. Word?
% g ' R0 St b P e 20
(A) F9 0
© F5 o B) F3 O
D ¢ .
(E) Questté?‘ Not attempteq ST s (D) F7 %
o | i
66 ChOOSL' [hc ’.fA’ ln
P approprll:re word 1o complete (¢ Biven sentence: i
€ pres "
(A) from ¢ Presentyg, Eave on my Fetiremeny,
(C) with B)  aboy
(E) Question not altempyeg (D) for p‘f-ﬂ'
RI5] g8 y [
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67 Choo-sc the most appropriate word from the options to complete the given sentence.
Despite her illness, she insisted

(A) on
(C) for
(E)  Question not attempted

—____going to work as she had plenty of pending work.
(B) in
(D) to

68  Which one among the following is not a salient feature of the Indian Constitution?

Choose the most appropriate option from below:

(A) Lengthiest Written Constitution (B)
(C) Integrated and Independent J udiciary (D)
(E)  Question not attempted

Frrferfiar & & ot ot et wiférer < e e R 2 22

Dual Citizenship
Universal Adult Franchise

Frfafas § & @ 3uge fres o
(A) Had T forflaa d@iaum (B)  aredt Arfiamar
(C) higha 3 Ta= FryTferat (D) wTEvfies saes Harfasr
(B) rgaf@ s
69  When was the ‘Agnipath Yojna’ introduced by the Government of India?
(A) 15 July 2021 (B) 14 August 2021
(C) 14 June 2022 (D) 14 August 2022

(E) Question not attempted
WRA TR ET ST ISHT el 3% 1 718 ofi?

(A) 153[as 2021 (B) 14 37 2021
(C) 14572022 (D) 14 3T 2022
(E) ruitawd

70  In Rajasthan, what is the amount payable every month to unemployed educated girls under ‘Mukhyamantri
Yuva Sambal Yojna’ ?
mmmﬁ‘gaﬂgmmm‘%méﬁwﬁmmﬁmmvﬁﬁw%?

Choose the most appropriate option from below:

firer & & wad Iug fawed 94
(A) < 3,000 (B) ¥ 3,500
(C) T 4,000 (D) 4,500

(E) Question not attempted / 3Tafta w1

71 Which of the following projects of Rajasthan provides hydroelectric power?
(A) Mahi Bajaj Sagar Dam (3 Jawai Dam
(C) Swaroop Sagar Dam (D) Uchha Dam
(E) Question not attempted

rorear &1 ettt i & F1 it afeise sefaga afm w&w ww

(A) WTE SIS AR A (B)  rard sy
(C) TEI AT (D) =Ty
(E) IiguRE s -
R15] 38 ? [ P.T.O.
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inscripti ins and seals is called
The literature which is engraved on inscriptions, coins
72 el

literature_
Choose the most appropriate option from below: ® E pigraphic
A) Folk D) Traditional
EC) “J@pgional ®) :.(' )
: d
(E) (Question notattempte ; FHETAT 2|
s e h il et et e e et e A
Frer 3 W e Fug s foshed ® TEEo
(A) ﬁ‘ﬁ (D) e v
©) & )
() g i
‘ * is related to which god/goddess? .
73 (l:)nguﬁyz :;:i is related to which g ®) Kaila Deyi
¢ !
© &ty Shyam (B Shoes Higress
(E) 'Question not attempted =y
SATET e S A wefa O
(A) Siora (B)  hetl Qeft
©) wrewm (D) it “Wﬁ
(E) rguiaws
74 Who&%iisciple was Dhanna?
(A) (Kabir (B) Pipa LM
(C) Mamanand (D) Dadu Daghl
(E) \ uestion not attempted )
a1 Tz am W0
(A) FE (B) dur oy
©) TWE= D) IS )
(E) rqafm sy R S
75 Which pne is the correct lens formula?
(Here'$§imbols have thejr usual meaning) 0
ﬁnﬁzﬁxﬁmmwagaﬂqm%? g
(et w%mmﬂmmﬁuﬁawg) 3
i % 3 \O
(A == 1
Yy ' ® L _le1
© 1.1 1 7w
Lé Lo ©® L_1-1
(E) U.lesli()n not auempted / % gg{ v j u
76 HorizbMal componen:
o} Nrof eanpyg Magnetic fielg . _ _160{15‘
Tesulighl intensiy ¢ earth’s Magne g at a place ig 3.2 x:\@-s Tesla, and angle of dip ¥ |
fardt w7 . ‘eld at the place g . S
. At il ST oy 60 ) T TR -.
(A) B2x103q 0
-5
((E)J 34 :lilo(; n:l any M Lex m?&
e “mmea;% D) 128«
RI15] g:g g ll‘"i T p 1,'0.
16 [
|
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77 Which mirror will show a wide area view?

{A) Plane mirror

(B) Concave mirror
(€) Convex mirror (D)  Parabolic mirror
(E) Question notfattempted
mm%ﬁw%ﬁﬁqﬁﬁﬁwﬁmmmﬁmﬁ 4,
(A) W@ o (B) 3fadet guor :2
© T (o (D) T i &
(E) i Wy v ot
Tg! v
78  Choose the odd one-6ut from the given options. )
few e forsredt 3 & v ey o s - -
(A) (11,143) o) B) (7,67)
© (6,35 O (D) (13, 195) L)
(E) Question no&-ca‘ttempted / TG 9 g
79  Pinki scored more*tﬁ'én Rakesh. Yami scored as much as Dimple and Lalita scored leis:,jhan Manju. Rakesh
scored more than '{%m and Manju scored less than Dimple. Who scored the least among the given persons?
(A) Rakesh f ¢ m (B) Lalita ol
(C) Yami R y'— (D) Manju =i
(E) Question not attempted
TR 3 e & =3fref, Bies wiw fopy mﬁ%ﬁma%maﬁta%mﬁmﬁwmmﬁgl TR 3 ATl & 1
2 ﬁtﬁﬁ%ﬂﬁﬁ%mmmmﬁ@r%ﬂ%mﬁwwm%@ W
(A) THT Oy —(B) @l =
(©) = (e (D) = g
(E) Srguiawyd S i
80 Frefafa i forefrredt ahr S I 8- ol
(A) - T (B) ¥IEt-STw
©) fafir - st ©) fafer- fdw
(E) SAui@9g\0 1
81 ‘ﬁmmﬁ%w%%ﬁww% tg
(A) FeE O (B) = 3y
©) amfw (D) et O
(B) rgaf@aad ﬂ E—;
g2 fFrmfafaa i wrert U & Siaria Tel ST v
(A) e an (B) 9fwr
©) I Ty, (D)  ITTEHE
(E) Srgafd Ly \O . - ::g
83 Ifmand nare the ﬁTots of the equation x* + px + ¢ = 0, then what is m? + n* equal to?o
afE m 3 n; ﬁ+;}gq=0m&3'ﬁgﬂ}mz+ﬂ ﬁmﬂﬁw%’ O
(A) p*+2¢q ?) B)  pPtyg "
© PP-24 ®) P-g 0
(E) Question not attempted / TR wat )
R15] 3
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84

35

86

87

88

89

RI5| 98

Ajay invested a total amount of T 10,000 in two types of investments. The first p

It of
H . 0, Ny
simple interest 6% per annum and the second part of investment on 10% per annym, G

. : Ifthe totall.ne“t Yielg |
end of one year is 7% per annum at simple interest, then the amount investeq in each, e Nigy, t §
m#aﬁm%ﬁ%ﬁﬁ@azlo,ocnmﬁﬁmﬁmmﬁaﬁﬁﬁﬂﬂmmﬁ% Mengy, U
mﬁtﬁéﬂﬂgmﬂmm%ui%iada?ratﬁmmmqtém%,ﬁt%aﬁ#mﬁa—g%m%a,-
S T RN R, 1 el P 3 gy oy rd i - T Ny
(A)  T7500; T 2500 (B) 700053 3000
(©)  T7300;% 2700 (D) T 6250;% 3750
(E) " Question not attempted / At v
ﬁn%%aﬁaﬂq‘a‘mgmmqﬁ%?
(A) W (B) W=7
(©) i D) ¥
() rqafaws
IR e 1 P st .
&) ¥ ®B) 7
© = (D) =
E) i@y
- A e o, ",
T ()
- :ﬁ’f-ﬂmﬁaam)
b. &g ' miﬂ
C: 3‘{§( IL. ‘T@HF{
4 fie IL 9=y
3 V. apfg
2w farei ﬁﬁmmsqgﬁmﬁﬁm
A a-IV,b-mc.qp g
© a-lb.nnc.qy g, ®) a-1v,b.mcom -1
(£) sty uy @ a-nbomc.mpg.rv
Frerfefiaa & s
T sy
(A) g *
©) foqu B) 3
(E) =gty D) fag
Which of the givep, .
N Plions wi) ¢ .
_{,ﬁ_l_lgﬁ cu}_lci Lef i . ‘mailm
(A) eifgi e
(C) ifige o
(E)  Question not attempyeg - = f‘lgle
%uﬂ lrgie I\I
18 3
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i) Ty
0 o
90 Select a figure gjf:m amongst the options which will continue the series e:ét:;lished by the four problem
figures. ﬁ‘ﬁ} . ;}!
fo e Foriel KA [ﬁw?mﬁsﬁwmwﬁﬂﬁmmﬁa Syoft =y sy @t
Problem ﬁgureﬂ-}tm'@'r mg;ﬁ-q-[: 2 Ly

PR AP !

] r/ = t"l
A~ &

zz %r)m Nﬂh%ﬂ B L0y

s T *u‘..!
i (g 7 i iv ke
; &hn
8 > 8
r v ?-.....i
A N, 3
¥ = i
]
o—
o M o | L| 5
L T X5
o Lo
(E) Questlon\got attempted / 3T IGRE 1y
ok Lo
91  Which of the following is not a space mission launched by ISRO? ¢l
(A) Chandrdyaan (B) Mangalyaan Lr?;
(©) Aditya-i}, (D) Space-shuttle programme

(E) Question not attempted
T 5 & 2 | 3E (ISRO) T @i fepa wra siafee firer et 22

- iy
(A) === gy ®) &
() nfemLID (D) mﬂamﬂm@am
Al 99 h
e S ﬁg W
92  The main functién of a GPS system is: r:!
(A) Weather Torecasting (B) Navigation and pbsitioning

(C) Sal:t:lliu:;__1 ging (D) Space exploration

(E) Question not attempted

. 1. TH (GPS) oIl &1 5 F 8:- ;
(A) HrEH GEEH (B) Wﬁﬁﬁfﬂ)aﬁﬁuﬁmwm
(C) el (D) SiafEr =wT (g

a4 &
(B) afe i a

93  The name of global satellite-based navigation system developed by the United States is
i g}

) crs (B) Galileo
(C) Bei Dc.u'_Lr_’4 (D) GLONAss  *1

(E) Question not attempted

sterfieRT (U'S) 3T et o1 eft &fieh 3w - S e QR Wworredt o A -

(A) GPS @) Neffert (Galileo)
(C) 3 (Bei Dou) (D)  TFH(Glonass)
(E) rgaftaud
RIS1 &6 i [ P.T.O.
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Select the Francis Hary Compton Crick’s Ph. D. thesis title- it e
” (:) X-ray diffraction: polypeptides and proteins (B) X-ra-y servatiw; DNAlc a?ds .
(C) Transformation in Streptococcus pneumonia (D) ~ Semicon Teplication

Mode]
(E) Question not attempted R
it o8 seae foreh & diumr, <t sivy & wfider o =9 : |
@) XX el diefiieerss s i (®) X-’ti%%‘cfm?ﬁm@g ]
(©) TSI R T (D) AT € T e e
(E) rgaf@ws

95  2Mg+0,—>2MgO

In above chemical reaction, the Magnesium metal is N
(A) Reduced (B) Oxidised

(C) Dissociated (D) Displaced
(E) Question not attempted

2Mg+0,—>2MgO

m%ﬁﬂmﬁzﬁaﬁm&,ﬂﬂﬁﬁmm@_—@?l

(A)  ¥=fE - (B) iR

©) Freifa D) foenfia

(B) rgafa sy
96  Blood groups in human population is an example of

(A) Co-dominance (B) Incomplete dominance

(C) Pleiotropy (D)  Aneuploidy

(E) Question not attempted

S WY § T Ty 6T T I B)

(A) =€ - wrferr (B) vt sy

(C) =gwwiferar (D)  3rgforar

(E) 3rqafa uy
97  Find the incorrect match from the following:

Eg; };lephantiasi;' - W. malayi B) AIDS-Retrovirus

neumonia-E. histolytica (D) Rj P

(E)  Question not attempted Sn Epidermophyton

ﬁ”ﬁ“ﬁi@ﬁqﬁ%mﬁwﬁﬁm

;2; mﬁ‘ﬁ W‘”WW B) W (AIDS) -

(B)  wifafe s (D) ST (fer ) - oftrerigrge
98  Which s i :

( A):c :;];;f the following js not a viral disease?

(C) Dengue (B)  Typhoid

(E)  Question noy attempeq (D) Influenzg

Pt 89 91 s e

(A) TEH (AIDS) e

©) I ; B) TEERE

(B) g ®) g

pt!

RIS] g8 - g
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99 Which of the following text is composed by Jambhoji?
(A) Mukam

(C) Amavsya of Falgun
(E) Question not attempted

(B) Vishnoi Dharmaprakash
(D) Alakh Niranjan

ﬁmﬁ%ﬁqmma‘em)anﬁ?ﬁmtﬁa%?

(A) TwW B) o enfyepray
(C)  STHTERAT 3 g (D) 3o forism
(E) rgafawy

100 'Who was the first person to call that region
(A) George Abraham
(C) George Alexander
(E)  Question not attempted

W & Y TSI e TS wore s Re e 9 Ry

‘Rajputana’, which is now known as Rajasthan?
(B) George Thomas
(D) George Tod

el TSTEAT T ST 22
(A) SISt TsmEn (B) SISt o
(C) il wEasiet (D) it ers
(E) afausy
101  Which of the following statement is/are true?
a. Metal oxides are acidic in nature.
b. Non-metallic oxides are basic in nature _
Select the most appropriate answer from given options: B
(A) Onlya (B) Bothaandb -y
(C) Onlyb (D) Neither a norb
(E) Question not attempted
= & & T T1/A U g /8-

a. T ATFETEE, WHid 7 ety e &
b.  3AUTg % HTFEIEE, THfa § &g € &
= far e et & & wartfares guge s g

(A) Fada (B) @Hifa3ftb
(C) Faab (D) Ta3dATHDL
(E) 3rafea s

102 A greenish coating that develops on copper utensils on being exposed to moist air is due to the formation of

(A) Copper oxide (B)
(C) Copper sulphate (D)
(E) Question not attempted

iter 3wt ot ST - AT H e v e

Copper carbonate
Copper nitrate

S HER I & v e B et 2

(A) YT IATFTEE (B) 37:7‘“'57@':!2
(B) Tgaf@ A s
RIS] 2

[P.T.O.
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03 The main components ofjdettol are -
1

Ly

(B) 2-3% solution of iodine in dlcbhol
(A) Chloramphenicol ¥Glycerol (D) Chloroxylenol and Terpeneglz
() 0.2% solution ofPEn%nol @
(E) Question not allerqé_gcd vl
&ira%‘l@“?%‘ v (B) UeehIgiel i HATEH & 2-39’:‘3@;
A) aﬁﬁcﬁsﬁma+ﬁa§ril‘m (D) A v i
©) T 0.2% e
(B) oTIaRaws 1
1) . i der the Panchayati-Raj syst
104 What is the minimum qigrum required for a Gram Sabha Ir(geetlzigx :;lﬂ cr Y 0 a) system?
(A) One fourth W By e 0 =)}
(C) One eighth Sg (D) Oneten Lo
(E)  Question not attempted Ej.i
WWW%WWW#W%WWWWW%? )
(A) T v ®) B AW
(C) Tadi i (D) <EATHET
(E) Irgaiausy T
O \O
105 Which one is not an initiative under “Skill India Campaign”? o
Choose the most appropfiite option from below: O
(A) Pradhan Mantri K% shal Kendra (B) Pradhan Mantri Jan A:ogy;iﬁ’ojna
(C)  Skill Saathi Coungeljing Scheme (D)  Industrial Training Instituters
(E) Question not attempted =i
"ﬁm?maxﬁmw%aiaﬁaaﬁqmmqﬁ%?
o wa#:mgmﬁmai;
(A)  TamEt Fhere T Ao )
(©) mmmﬁmﬁm g)) - anﬁm \O
® wmaws o Sreifireh wfireror ey V)
0 (o)}
106 i .y O
Which of the followmg lﬂnot a Rabi crop in Rajasthan? v
(C) Mustard (B) Barley el
(E) O;eslion not attempeq (D) Rice
e bl H R 1fy ey
(A) O T ¥y ™
(€) s \g (B) i o
(E) srqufguy D \O
O D) <&y &
107 fa=ae mnﬁuﬁﬁag‘g ol
(A) fa:+8= Ts)
g B ®) Ry v
At 99 (D ;
RI5| g PR | AT
22
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108 ﬁﬂ%ﬁﬂﬁﬁ@q%ﬁ%mqﬂmqﬁﬁ?

(A) HEER (B)  =rsharfor
© s (D) fraoft
(B) Tmfawsy
109 ‘ST H FH-1 T 9
(A) ?T?EIW (B) sroftvE
© = (D) fay
(E)  ST{uia war
110 Match List-I with List-IT
List-1 (Characters) - List-II (Contrasting Traits)
a. Flower color L Green/ yellow
b. Pod color II.  Violet/white
c. Seed shape L. Round/wrinkled
d. Pod shape IV.  Inflated/ constricted
TEt-1 1 -1 & gafem it ;
HEt-1 (Frdream) geft-11 (Ferreft 7qom)
a. T L s
b.  weTar 0. STfiahe
c. R 0L e /gdiar
d. el @R IV. el g5 Mg gd
Choose the most apgmprf'ate answer from the options given below:
Hi= R o faenet ﬁ%awffbﬁavgmmﬂﬁq:
(A) a-I,b-Ic-IV,d-III (B) a-I,b-Ic-ILd-IV
(C) a-Lb-ILc-ILd-IV (D) a-Lb-I,c-IV,d-III
(E) Question not attempted / 3TTaRd ¥
111 The Thalassemia gene is present on
(A) XXof 23rd pair of chromosomes (B) XY of23r pair of chromosomes
(C) anautosome (D) mitochondrial DNA
(E) Question not attempted
derdifaar s 9T 3qfeyd grar &
(A) 233 O IS & XX (B) 233 U S & Xy
(C) U Sfet qorgA (i) (D) Wi f e
(E) Hqufa 94
112 Which of the following printer is noiseless, high speed and of high quality?
(A) Typewriter (B)  Dot-matrix Printer
(C) Inkjet printer (D)  Laser Printer
(E) Question not attempled
Frefaftaa § @ @1 @ ua fiey wf e, soanfa shoses e aen iy
©) (D) & fifey
® FERAIH -
R15] 38 )
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113

114

115

116

117

R15

Which function key is used to edit cell contents in spreadsheet?

sy 3T 72 AR s e e g e o e )

\O ; )]
(E)  Question not attempted / SIEREGR ;-4
L L

A man is facing North - West. He turns 90° in the clockwise direction and theri™185° in the anticlockwise
direction. Which direc@1 is he facing now?

(A) East v (B)  South {:3
(C) North o) (D) West s
(E)  Question not att pted -

&
T I 3 IRy 9 e fava g 1 e e R i e 90° ﬁgawmmmé(@m
) TR 135° Haeir ¥ orer e forer e & vy e g '

L0
@ @ ®) w
(©) W 0 (D) ufdm
(E) wgmtays O ')
© 2
32 students are sittidgin a row facing towards North. If Nehal is 14% from th eft end then what is her
position from right end o
32 foremdi we it siregE e g e 43 31 af Yoot ard o 14%%«%@[%%31%&{&\(%
R -
(A) 17 - (B) 18
) 19 (U} ™) 20

(E)  Question not at{é'&;pted / agaﬁasm g
o ©

Arrange the following‘@ords as per the English dictionary and find the second wgrd:
SIS A= % STy R A AR AR g T R
charity, carton, caravan;icardigan ;};
(A) Carton (B) Caravan L
(C) _Charity D) Cardigan
(E)  Question not ali%;pted | ST W

O 1)
The remains of GaneshWar civilization are found at which place in Rajasthan? g
(A) Bhilwara (B) NeemkaThana OO
(C) Udaipur N (D) Hanumangarh w0
(E)  Question not attempted ;g
IO GV 5 AR ST oy ey e iy iy v
(A) feraret (B) i ot
(C) Y (D)  wguTITg
(E) aiaﬂ'ﬂ?r 99

] 98 24

[P.T.O.
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118  Who was the founder of the Chauh

an Dynasty of Ranth
Choose the most appropriate option fro - '*ambhore?

(A) Govind Raj i (B) H s
T ammir
Eg)) Pnthv.iraj (D)  Veer Narayan
Question not attempted L)
TR o SIeFeET & e 3 o O
Pt it et 38 P a
A) T 7
Ty (B) wHR )
(©) AT - g ©) draRE
(E) Ygafawx ! 4
~
119 Match List-I with Fist-IT
Lis\cg (Folk art) List-II (Material))
a. Ka@gl I Paper O
b.  Phady IL Colour \O
Z. 1;::3 _ IL  Cloth 3;‘
» ana v
Flfﬁ-l ) '('15!‘]’-11 d !ﬁﬁi%ﬁ EJIE I s UH]
-1 (S TeT) -1 (wmdt) ©
a. EH?EJ I R
b. FEO II. a1
é. RO III. =h9sT g
& g IV. &gt 0
Choose the mos}g propriate answer from the options given below: (&)}
e & & waffire J9gw ST o
) 5-TH DiesL el (®) a-ILb-Lc-IVd-II
(C) a-Lb-Ic-NLd-1IV (D) a—III,b-IV,c-ﬁd-I

(E) Question not attempted / 313’!1‘&3 Tq

i
120 maﬁmﬁf&w:a%ﬁ:ﬁwﬁﬁﬁmmﬁ%mmmam@ﬁﬁmﬁ%mw

(a) i frdl ®) YomdwfET O
(C) i gy (D) HehHe T g)\
(E) eﬂﬂﬁﬁg O
121 g1 ge-11_ gafera ifse 1
elt.1 (3t & AT 153) w11 (ﬁa"mﬂﬁrﬁeﬁm)
a. ABRIDGE - Z I aagrﬁz:r
b. ANNEXURE - 3 L e i
c.  ANENDMENT— Y L. e
d.  APRPROVAL — ) v, e 8
13y foa T ferered? # & wraiferds ug Su gL 3
(a) a-1b-Jlc-1v,d-I (B) a-1V,b-l,c-NDd-1I
©) a-Tb-Dc-Td-I (D) aJl!,b-ll.c-E}?}d-l
(E) IATIH -~
25
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122 *Acknowledgement’ 7T &t it €hm-

) ﬁ‘ﬁﬁ (B) l'ﬂﬁl?n
(A (D) SHI
o) ffia

EE)) ST T

triangle ABC, AB = BC and length of AC is y2 times the length of AB. If the perimeter of Apg,
123 Inatnan ) = .
f AABC is -
g A0 A B A 8 8 VT T g
@ ) 5
(14+7 V2) R 8, T AABC 7 8FaT 2 -

49

2
(A)  59cm? B) 5 cm
i
©) 69cm? (D) -5 cm
(E)  Question not attempted / TTafa &1
124 IfPQ || RS, then find the value of a + b +c w
IR PQ||RS, @ a+b + ¢ FHH FT &L P .
Q
Pe
a o 2 f
5 M
Re— Sl
(A) 180° (B) 270°
(©) 360° (D) 280°

(E)  Question not attempted / AR Wy

125 What is the full form of “EEPROM™?
(A) Electronically Erasable Pro
(B)  Electrically Erasable Pro
(C) Erasable Electrically Pro
(D) Electrically Erasable Py
(E)  Question not attempted
“EEPROM” 1 quf 7 §.

(A) sﬁﬁma&m%ﬁgwm

grammable Read - Only - Memory
grammable Read - Only - Memory
cess Read - Only - Memory
grammable Read - Memory

1

ay' in India?

(C) 25 August B3 23 August

(E) Quegign ﬁ?;): F;::mmcd (D) 27 August

frafafad i & fi; ) i :

(A) 20 3R o mmﬁ*‘ﬁaﬂ'ﬁﬁaﬁﬁmvma

(C) 25%T= B) 23 sy

(E) 3afav4 D) 27 appg .
il 26 (pT

A
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127 Match List-I with List-IT

List-1 (Indian player) List-II (Associated sport)

a Mirabai Chanu i Gymnastics

b. 1 Dipa Karmakar ii. Weightlifting T

c ima Das iii.  Archery Vs

d. igDeepika Kumari iv.  Athletics " (0
Tft-1 1 o w=hnn % 91y hifde Gy

\CEt-1 (et Rareredty TE-11 (S e
8. THITES <R T v S
b Ly i i, WEem )

c. e iii.  dffarstt i

d.  ifte Furt iv.  CifeRg

Choose the most appropriate option from below:

ﬁﬂﬁﬂﬂﬂ@?ﬂ‘gﬁﬁmiﬁrm?ﬁﬁm W
(A)  a-ivMBii, e, d-ij B)  a-iii, b-iv, c-ii. d-i
©) adi, bR, c-iii, d-iv (D)  a-ii, b-i, c-iv, doii

, d-1ii
(E) Que@m not attempted / IFTRT T &

o
128  India delivered the first consignment of ‘Brahmos Supersonic Cruise Missiles’ to which country?
(A) Nep

(B) Bangladesh Ly
© Phil{pgines (D) Bhutan i
(E) Question not attempted

Wﬁ‘ﬁ@?@@ﬁiﬁaﬁﬁﬁﬁﬁ’iﬁqﬁ@qﬁﬂﬂéﬂﬁﬁﬂ?

(A) F91gn B) wwmw i
(C) el (D) Em o
(E) Srgafawsr W

129 Choose th&host appropriate English translation of the given sentence. %
EEE IR K Y,

(A) Wh e is weeping?
(C) Shemwhy is weeping ?
(E)  Question not attempted
130 Choose the most appropriate reported form of the given sentence:
He said to lim,”Is your name not Robin?”
(A) He inquired whether his name was not Robin,
(B) He ad¥ed if the name was Robin,
(C) He w that wasn’t his name R.obin
(D)  He gsked if my name was Robin,
(E)  Quegtipn not attempted
131  Choose themost appropriate option to fill in the blank:
When my friend came to collect her books, I was a little emb
books that U’Fd borrowed.

i
(B) Why is she weeping?
(D) Sheis weeping-why?

15169665

arrassed as | only one out of the five

(V)
(A) madi (B)  will have readlO
(C) had fdad (D)  have read w
(E)  Quesilon not attempted . 3;
132 Choose the'Host appropriate option to fill in the blank: -
The police bificer stopped us and asked us where . N
(A) werewe going (B) are we gom.g b
(C) weare going (D) we were going
(E) Question not attempted
27
R15] $8
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. 133 Choose the most appropriate passive construction of the sentence given:

Everyone knows the facts of the case very well.
et | SR ¥

(A) Thecaseis known to everyone very well.
(B) The facts of the case are very well known.
(C) Everyone is known to the facts of the case.
(D) Everyone knows the facts of the case.

(E) Question not attempted

134 The executive powers and functions of the Governor are:

a. All executive actions of the Government of a state are formally taken in his name.

b.  He cannot seek any information relating to the administration of the affairs of the state and

proposals for legislation from the Ministers.

c. He can make rules for more convenient transactions of the business of a State Government.

d. He appoints the Chief Minister and other Ministers.
Choose the most appropriate answer from the options given below:

(A) a,banddonly (B) b, canddonly
(C©) a,canddonly (D) b,aandconly
(E) Question not attempted

TSAIT <l FHRIHRT MTeHAT S FH B-

a.  UST GR A aft st sriarfeat sha=ries &9 & 376 I U St 21

T ST & TG ¥ TG g W SR T HT % SEd o qR 5 WG] § S e 7

Tehd 8l
c. U GTHR & HHHIS & Sfereh GraaTesh G o g e s gerd &)
d. WWWH&&IH&%M%

=i fe e et & & rarfire s S -
(A) Faca,baMd (B) Fadb,c3iRd
(C) Faaa, c3Rd (D) Faab, a3 ¢
(E) Igafta 94
135 Where is the Public Service Commission of Rajasthan located?
(A) Ajmer (B) Jaipur
(C) Jodhpur (D) Alwar
(E)  Question not attempted
TSI AT W1 AT et fega 87
(A) TR (B) S
(€) g (D) 3wt

(E) wiaf@uy
136 AT e T w5 Ffefiad 3 4 v ard i .

(A) CLCH (B)
(€ D) W@
(B) rgufawd

R15] 3£ 28
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137 ﬁq%f@ﬁﬁ%‘am-a#ﬂ’mgmqmg..
(A) 3T - 3R

(B)  fer - oy
(C) o - fem (D) - 3ifi
(E) rguf@wy
138 Fafafaa # AR 7y -
A # (B) w
© = (D)
(E) orgafa wa
139 Six numbers are arranged in decreasing order. If the average of the first five numbers is 40 and the average
of the last five numbers is 30 then the difference of the first and the last number is:
wﬁ@nﬁﬁqﬁmﬁWW|w&ﬁﬁav@mﬁm%m%ﬁrmﬁaﬂﬁﬁwﬁwaﬂmm
B Teelt 3 anfedt wreared ay S R:-
(A) 25 _(B) 50
< 175

D) 90
(E)  Question not attempted / :ﬂiﬁﬁﬂ T

140 A loss of 25% occurs on selling an article for ¥ 1,800. What wo

uld be the profit percent if the same article is
sold at ¥ 3,200?
THARTHT 1,800 ﬁéﬁmzs%ﬁmﬁﬁ?ﬁ%mﬁwaﬁgaﬁ? 3,200 T =T SITAT 8 A T 6T ST 4T S
(A) 25% (B) 35%
©) 30% o) 31%

(E)  Question not attempted / ST e

141  Which of the following statement is incorrect for a chemical change?

(A) A gas may be evolved.
(C) Sound may be produced.
(E)  Question not attempted
T TErEfE afad & fau fm § @ S areum ad o e
(A) U T Icafsia B et 2

(B)  3oHT 39 & ekl & W STawifi et oft i By 20
(C) =aft Icq=1 & dehell 21

(D) 1 9fEdT 8 g 8l

(B) HAquf@ua

142 Honeybee culture is called-
(A) Silviculture
(C) Sericulture
(E)  Question not attempted

(B) Heat may be produced but never absorbed.
(D) A colour change may take place.

(B)  Apiculture
(D) Lac culture

HYAFET 9T I el ST 8:-
(A) faedfimet (B) ufiweat
©) dlwe (D) O (A1) Fe=g
(E) Fguf@sa
RI5] 8 s

[ P.T.O.
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143 The correct sequence of different steps of polymerase chain reaction is -
(A)  Anncaling = Denaturation — Extensjon
(B) Denaturation —> Extension — Annealing

(C) Denaturation — Anncz_\lling —> Extension

(D) Extension — Rcﬁnaturation —> Annealing llg
(E) Question not attémpted ‘O
e e TR et - @
@) whfEm — fifsror — war v
®) B — it s i v
©) i — whfdr — frar

D) forewr — fiftwor — whisi

€ oetawr o ©
0 O
144 The Calli aind vees i ituti e
e Calligraphy of thsjlilmdl version of the Indian Constitution was done by NI S
(A)  Vasant Krishad Maidya _ (B) Nand Lal Bose =
(C)  A.V. Thakkar f}; (D)  H.C. Mukherjee f},
(E)  Question not attepted
T w3 fedt s T Gera I e T o)
(A) awgawréatn (B) T S
© wHzm O (D) .. o
(E) safmys Oy %
Lo =i
g |
145 Who is the present (agon 01 September, 2024) Chief Minister of Rajasthan? :ﬂ
(A) Bhajan Lal Shinha (B)  Vasundhara Raje
(C)  Ashok Gehlot (D)  Bhairon Singh Shekha\ﬁ)s
(E)  Question not {lﬁmpted 0
mmm%a#m(mgmm, 2024 % &) i i 2y B’i
(A) W17 e vt L‘: (B)  agum Iy O
(C) =9 e v - .
.) uH :;,’ (D) ¥ fite Srarae Iy
) orufagg ™
146 When did the Ponugp;;e take over Gog? ol
iy o
(A) 1506 ) | B) 1510 s
c) 1518 h h
( : - (D) 152 L
(E) Question not alrf_éimmed | STyt vy ud.
R15] 38 30 -
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147 Which ministry launched the
(A) Ministry of Finance
(C) Ministry of Defence
(E)  Question not attempted
formr e 3 “femmg o sufimr @@ &Tvar fmor
INERELREISE
(C) YT HATETH (D) T e
(E) 3rgafa s ‘

“Capacity Building on Design and Entrepreneurship (CBDE)’ program?
(B)  Ministry of Education
(D)  Ministry of Home Affairs

(&t <ft <1 Sy e wrE (et fim
(B) e e

148 What is the theme of World TB Day-2024?
(A) “Yes! We can end TR’
(B) ‘Invest to End T.B save lives.’
(C) “Wanted: Leaders for a TB-free world’
(D) ‘The Clock is Ticking’
(E) Question not attempted
ﬁaz“ra“r(aﬁﬁm)ﬁaﬁzomamﬂwa‘aﬁumw%?
(A) &, &5 2 oft e wowehd 81 | o & de el
(B) amwm%mmﬁ,wm@q&e;@mmm
(€) =ifed: & <t vy Forer 3 o e (G ftedt win w st - shr aes)
(D) =<t = @ 2 (S T 391 )
(B) gaf@ys

149 Keoladeo National Park is located in which place of Rajasthan?

(A) Barmer (B)
(C) Dholpur

(E)  Question not attempted

FadrRd LT U TSI § forg v w Rua 3
(A) =TgHT (B) A
(€) ey (D) g
(E) srqufa@ad

Bharatpur
(D) Rajsamand

150  Which is the fastest train in India?
(A) Shatabdi Express

(B)  Gatimaan Express
(C) Duronto Express

(D) Vande Bharat Express
(E)  Question not attempted

NI <t e nife o) 2 @ | 22
(A) vraTedt wHEgE (B) “ﬁ.mmw
(©) T T (D) &R T v
(B) oraiaws
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